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MODEL TEST 1

PART I Dictation [15 MIN ]

Listen to the following passage. Altogether the passage will be read to you four times. During the first
reading , which will be done at normal speed , listen and try to understand the meaning. For the second and
third readings, the passage will be read sentence by sentence, or phrase by phrase, with intervals of 15
seconds. The last reading will be done at normal speed again and during this time you should check your
work. You will then be given 2 minutes to check through your work once more.

Please write the whole passage on ANSWER SHEET ONE.

PART I Listening Comprehension [20 MIN |

In Sections A, B and C you will hear everything ONCE ONLY. Listen carefully and then answer the
questions that follow. Mark the correct answer to each question on ANSWER SHEET TWO.

SECTION A CONVERSATIONS

In this section you will hear several conversations. Listen to the conversations carefully and then answer
the questions that follow.

Questions 1 to 3 are based on the following conversation. At the end of the conversation, you will be given
15 seconds to answer the questions.

Now , listen to the conversation.

1. Why is the woman able to give Harry so much information about the job?
A. She is Professor Jamison’s daughter.
B. She works part-time as Professor Jamison’s secretary.
C. She used to do the job herself.
D.

She just came out of an interview for the job.

2. What does the Professor Jamison’s assistant do?
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A. Make up homework problems.

B. Do research in the library.

C. Teach an introductory economics course.

D. Grade homework sets.
3. What is Harry’s main concern about the job?

A. He wonders if he has enough time.

B. He is afraid he won’t know enough to do the job well.
C. He fears that the job may be too boring.
D.

He thinks Professor Jamison has someone else in hand.

Questions 4 to 6 are based on the following conversation. At the end of the conversation, you will be

given 15 seconds to answer the questions.
Now, listen to the conversation.

4. What is the main topic of the conversation?

A. The dances of a Native American dance troupe.

B. The classification of Native American ceremonial dances.
C. Variations of a basic dance among Native American tribes.
D.

The training of Native American artists.

5. What is the purpose of the interview?
A. To broadcast an award ceremony.
B. To announce a meeting of the tribal elders.
C. To celebrate the opening of a new theater.
D. To inform people about a performance.

6. Why are the dances approved by the elders of the tribes?
A. The elders must give approval to perform sacred dances.
B. The elders would make sure that the dances are performed properly.
C. The troupe is financed by the elders.

D. The elders have substantial acting experience.

Questions 7 to 10 are based on the following conversation. At the end of the conversation, you will be

given 20 seconds to answer the questions.
Now, listen to the conversation.

7. Why does the woman take Theoretical Dynamics again?
A. Theoretical Dynamics is a required course.
B. She dropped the course when she entered the hospital.
C. She likes this course very much.
D.

It’s a compulsory course.
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8. Which course is easy to the woman?
A. Physics.
B. The seminar of computer science.
C. Mechanical Drawing.
D. Methods of Mathematical Physics.

9. The man is very concerned because
A. the courses are too difficult for the woman
B. the woman’s computer knowledge is poor
C. he is not sure about the woman’s ability in learning
D

. the woman takes too many courses

10. When does the conversation take place?
A. Before the semester begins. B. In the middle of the semester.
C. At the end of the semester. D. The first week of the semester.

SECTION B PASSAGES

In this section, you will hear several passages. Listen to the passages carefully and then answer the
questions that follow.

Questions 11 to 13 are based on the following passage. At the end of the passage, you will be given 15

seconds to answer the questions.
Now, listen to the passage.

11. Today, the earth is in trouble for the following reasons EXCEPT that
A. our planet is a closed system
B. factories pour dirty water into rivers
C. cars and factories put poisons into the air

D. people throw bottles and paper carelessly

12. To continue to survive, we must
A. shut down the factories
B. learn how to use the limited resources reasonably
C. stop the production of cars

D. impose severe punishment on people who throw wastes carelessly

13. According to the passage, we should nature.
A. abuse B. control
C. coexist with D. struggle against

Questions 14 to 17 are based on the following passage. At the end of the passage, you will be given 20

seconds to answer the questions.



14.

15.

16.

168

Now, listen to the passage.

What is the main topic of the talk?

A. Recently discovered manuscripts.

B. Similarities among religions.

C. Methods of analyzing ancient manuscripts.
D.

How ancient manuscripts are preserved.

According to the speaker, what’s one aspect of the manuscripts that is very significant?
A. The simplicity of their language. B. Their age.
C. The location of their discovery. D. The material they are made of.

What was an early source of information about Buddhism?
A. Orally preserved teachings. B. A collection of letters.
C. A diary. D. A scholarly article.

What do scholars expect to learn about from the manuscripts?
A. Ancient settlers in Asia. B. How Buddhism is practiced today.
C. The spread of Buddhism in Asia. D. Why some languages disappear.

Questions 18 to 20 are based on the following passage. At the end of the passage, you will be given 15

seconds to answer the questions.

18.

19.

Now, listen to the passage.

In the past, hip-hop was a place for people to sing about
A. love B. social injustices

C. what was happening in family D. friendship

Rapping could be described as speaking or singing words
A. at a slow speed over music with quick beats

B. at a fast speed over music with slow beats

C. at a fast speed over music with quick beats
D.

at a slow speed over music with slow beats

20. Today the turntable may be replaced by

A. music produced on computers B. music produced by two records
C. music produced by instruments D. music produced by the video

SECTION C NEWS BROADCAST

Questions 21 and 22 are based on the following news. At the end of the news item , you will be given 10

seconds to answer the questions.

Now, listen to the news.



21. Which of the following statements about Martin Luther King is INCORRECT?
A. He was shot and killed.
B. He died in the 1970s.
C. He led the struggle for racial equality and economic justice.
D.

He led a campaign of nonviolent protests.

22. When did Doctor King receive the Nobel Peace Prize?
A. In 1968. B. In 1950.
C. In 1960. D. In 1964.

Questions 23 and 24 are based on the following news. At the end of the news item , you will be given 10

seconds to answer the questions.
Now, listen to the news.

23. What is the main idea of the news item?
A. The pollution across the world is more and more serious.
B. Natural disasters in some countries are more frequent.
C. Global warming will cause serious problems on the earth.
D.

Countries along the sea coast are stricken by heavy rain.

24. How does the carbon dioxide affect the atmosphere?
A. Tt causes the rise of temperature.
B. It pollutes the environment.
C. It increases probability of tsunami.
D. It affects the animal’s life law.

Questions 25 and 26 are based on the following news. At the end of the news item , you will be given 10

seconds to answer the questions.
Now , listen to the news.

25. What does the news item mainly report?
A. The maternal mortality remains a threat nowadays.
B. New York City’s maternal mortality situation.
C. Maternal mortality is worse in developing countries.
D

. Giving birth is much safer than twenty years ago.

26. Which of the following statements is CORRECT according to Dr. Jo Boufford’s remark?
A. Different countries shall fight maternal death on their own.
B. The world shall cooperate to cope with maternal mortality.
C. The approach adopted in only one country is not effective.
D. Developed countries can’t help the poor developing countries.

Questions 27 and 28 are based on the following news. At the end of the news item, you will be given 10

5
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seconds to answer the questions.
Now, listen to the news.

27. Why does the Bishop think the newest natural burial will become popular?
Because it is more environmental and economical.
Because it is quite a brand new try for the local people.

Because people can have a greater sense of unity with creation.

oo wp

Because the funeral Mass is much more complete than before.

28. Which of the following is CORRECT according to the news item?
A. The eco site can be leased for less than $2,200.
B. The tenure of the site cannot exceed 30 years.
C. The gravestones and the site can also be recycled.
D. The plot is used by others after the tenure becomes due.

Questions 29 and 30 are based on the following news. At the end of the news item , you will be given 10

seconds to answer the questions.
Now, listen to the news.

29. What is the main advantage of unmanned vehicles?
A. Reducing risk for troops. B. Being economical.

C. Being easy to manipulate. D. Using nuclear energy.

30. What is the range of the unmanned airplanes according to Iranian officials?
A. About 620 miles. B. About 720 miles.
C. About 520 miles. D. About 512 miles.

PART Il Cloze [15 MIN |

Decide which of the choices given below would best complete the passage if inserted in the corresponding
blanks. Mark the best choice for each blank on ANSWER SHEET TWO.

The West has begun to take more notice of the East.
The fifth 31  of an enormous 31.

version
volume
selection
collection
32  reassessing the Chinese contribution to science and technology is to  32. work
works
working
worked

that

POOEEEO® >

be published next year. The first volume, 33  was published twenty 33.

6
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which
what
. of which
. decided

made

years ago, 34  the tone of the whole work. In it, evidence was given to 34.

set

. set up
show that many inventions which 35 | western historians had claimed 35. A. before then
after then
by then

. until then
for Europe, were made 36  in China. 36. A. first
later

repeatedly

SORPUOFEPDOO®EFDOW

. often
The attempt to rewrite the intellectual history of the world was not

for

of

. without

with

received 37  protest by some reputable historians. 37

_ 38 , the evidence that has been presented so far in the first four 38. A. Therefore
. Thereupon
. However
Otherwise
volumes has persuaded many historians who were 39 at first. China’s 39. A. skeptical
cynical
irrational
. hesitant
invention of paper, printing, the magnetic compass and gunpowder 40  40. A. was never

were never
have never been
has never been

laggard

unpractical

disputed, but this new history has added 41  bridge design, mechanical 41.

advanced
advancing
clocks, paddle boats and many 42 inventions to the list. 42. other

important

famous

CORPIOFPOONRPIOWEPIOOESTOW R

ingenious

In the four volumes published so far no attempt has been made to

>

explain 43  China has not kept up with the West in science and 43, how

&=

that
C. what
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technology in modern 44 . It is probable that the answer

45  in the social and economic history of China, where a static society

46 a relatively benevolent regime of scholar-gentry

47  the potentially revolutionary and dynamic society of the West at

the end of the Middle Ages. In recent years, the Chinese government has

been making every effort to 48  the West again, and there is

49  doubt that the gap is being

50 year by year. But will China avoid the West’s mistake?

PART IV Grammar & Vocabulary

46.

47.

48.

49.

50.

DCOoOwWRPUOUOEPOOEPTOWR O

SOoEFPTO®E>TOR R

why
age
ages

time

. times
. is found
. is to be found

. be found

. has been found

with

. within

through

. under
. contrasts with

. contrasts against

resembles

. compares with

make up with
catch up with
close up

patch up with

. little

a little
few

a few

. widened

overlooked

neglected

. reduced

[15 MIN]

There are thirty sentences in this section. Beneath each sentence there are four words or phrases marked

A, B, C and D. Choose one word or phrase that best completes the sentence.

Mark your answers on ANSWER SHEET TWO.

51. “Why don’t you give up smoking?” she said. She
A. asked why didn’t I give up smoking
B. asked why I don’t give up smoking
C. advised me to give up smoking

D. suggested me not to give up smoking
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52,

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

Evidence came up specific sounds are recognized by babies as young as six months old.
A. what B. that C. which D. whose

By the end of this month, I here for 20 years.
A. shall have been teaching B. have taught
C. would have been teaching D. am going to teach

, most of whom were women and children.
On the beautiful ship are over 2,200 people
On the beautiful ship were over 2,200 people
Over 2,200 people are on the beautiful ship
On the beautiful ship had over 2,200 people

S

The old man still remember the persons and events he met with during World War II.
A. which B. who C. as D. that

My father is a heavy sleeper now, but he used to rarely oversleep, he?

A. isnt B. did C. didn't D. is

The pressure causes Americans to be energetic, but it also puts them under a constant

emotional strain.

A. to compete B. competing

C. to be competed D. having competed

When he arrived, he found the aged and the sick at home.

A. none but B. none other than  C. nothing but D. no other than

As4 to 8, 8 is to 16.

A. as B. so C. that D. which

According to some educators, the goal of teaching is to help students learn what to know to

live a well-adjusted and successful life.

A. do they need B. they need

C. they are needed D. as they may need

If ever again happens an accident like this, we will have only ourselves to blame.
A it B. so C. there D. that

An ambulance must have priority as it usually has to deal with some kind of

A. crisis B. emergency C. urgency D. emergence

Most insurance agents would rather you anything about collecting claims until they
investigate the situation.

A. do B. didn’t do C. dont D. didnt



65.

66.

67.

68.

69.

70.

71.

T2

73.

74.

75.

76.
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trouble, I'll forget the whole thing.
A. Rather than caused B. Than rather caused

C. Than rather causing D. Rather than cause
Would you please spoil any material?
A. not B. not to C. to not D. dont

The loss of the rain forests would upset the climates of tropical countries, bringing droughts and floods

and soil.

A. fertile B. sterile C. hostile D. serial

These five years of hard work is the of him.

A. building B. constructing

C. making D. doing

Thousands of workers in the small town are since the car factory has closed down.
A. idol B. idiot C. ideal D. idle

The little boy was for getting his shoes and socks wet.

A. charged B. accused C. fined D. scolded

The reporter managed to get an interview with the Prime Minister.

A. exclusive B. excessive C. inclusive D. extinct

He will not turn the cold on me when I am in trouble.

A. back B. heart C. eye D. shoulder

It didn’t me that you would object to the decision.

A. occur to B. hit upon C. flash to D. happen to

Don’t smoke in the meeting room. The smoke my eyes.

A. disturbs B. bothers C. upsets D. irritates

More than one-third of the Chinese in the United States live in California, in San Francisco.
A. previously B. predominantly

C. practically D. permanently

How close parents are to their children a strong influence on the character of the children.
A. have B. has C. having D. to have

No matter how frequently it , the film always attracts large audiences.

A. showing B. to be shown

C. is shown D. being shown



77. It is important you to get there in time.

A. that B. for C. of D. whether
78. What would happen if the director knew you felt that way?

A. do you suppose B. you suppose

C. will you suppose D. you would suppose
79. I have two boys but of them likes sweets.

A. both B. neither C. either D. none

80. “I don’t have any money with me. Do you?” he asked. He said
A. he didn’t have any money with him and asked me if I had
B. he doesn’t have any money with him and I do

C. he didn’t have any money and asked me if I do

D.

he didn’t have money and asked me

PART V Reading Comprehension [25 MIN ]

In this section there are four passages followed by questions or unfinished statements, each with four
suggested answers marked A, B, C and D. Choose the one that you think is the best answer.

Mark your answers on ANSWER SHEET TWO.

TEXT A

One of the good things for men in women’s liberation is that men no longer have to pay women the old-
fashioned courtesies.

In an article on the new manners, Ms. Holmes says that a perfectly able woman no longer has to act
helplessly in public as if she were a model. For example, she doesn’t need help getting in and out of cars,
“Women get in and out of cars twenty times a day with babies and dogs. Surely they can get out by
themselves at night just as easily. ” She also says there is no reason why a man should walk on the outside
of a woman on the sidewalk. “Historically, the man walked on the inside so he caught the garbage thrown
out of a window. Today a man is supposed to walk on the outside. A man should walk where he wants to.
So should a woman. If, out of love and respect, he actually wants to take the blows, he should walk on the
inside—Dbecause that’s where attackers are all hiding these days. ”

As far as manners are concerned, I suppose I have always been a supporter of women’s liberation.
Over the years, out of a sense of respect, I imagine, I have refused to trouble women with outdated
courtesies.

It is usually easier to follow rules of social behavior than to depend on one’s own taste. But rules may
be safely broken, of course, by those of us with the gift of natural grace. For example, when a man and
woman are led to their table in a restaurant and the waiter pulls out a chair, the woman is expected to sit in
the chair. That is according to Ms. Ann Clark. I have always done it the other way, according to my wife.

It came up only the other night. I followed the hostess to the table, and when she pulled the chair out
I sat on it, quite naturally, since it happened to be the chair I wanted to sit in. “Well,” my wife said,

when the hostess had gone, “you did it again. ”
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